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BRI [ K % 1XH 2K H &t B K £ 1XH 2K H &3
1[8N 1FFH[ 04764 0.49.13 1.36.77 1 T Fpk | 0.38.98 0.40.53 1.19.51
2 | XB E=E | 04959 0.47.31 1.36.90 2 | % £ | 04070 0.41.24 1.21.94
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JEGL | B % 1XKH 2XKH &3 4 | %0 {EXER| 0.40.83 0.45.16 1.25.99
1 F#&k E& | 037.71 0.40.82 1.18.53 5 | JBH EE [ 041.92 0.45.12 1.27.04
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2 | 0 HHE 1.32.67 1.30.19 3.02.86 BR[| K % 1XH 2KH =
BF2E8 ( 3% ) 1 g 3% | 0.31.74 0.32.95 1.04.69
JERL [ K % 1XKH 2KH = 2 |08 #FHHKE| 0.33.88 0.35.16 1.09.04

1 KE IE# 0.40.72 0.43.14 1.23.86 3 HH EN 0.34.72 0.36.41 1.11.13

2 =H xFH 0.45.73 0.47.00 1.32.73 4 B/l K— 0.36.22 0.36.97 1.13.19
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1 B0 EF 0.53.39 0.58.01 1.51.40 1 hiE &t DS

2 | hE EA 1.16.60 1.07.51 2.24.11 B ¥ 350 ( 3% )

BF12% ( 3% ) JEfGL] K % 1XH 2KH =

JEGL | B % 1XH 2XKH =1 1 *H #H | 03637 0.37.09 1.13.46
1 MER 1E# | 0.47.10 0.46.76 1.33.86 2 | & #E3 | 03682 0.38.05 1.14.87
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